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EXERCISE # 1
Q.1

_______ 
 (A) 0   (B) 1 
 (C) –1   (D) 

Q.2 _______ 

(A)   (B) 

 (C)   (D) 

Q.3 m = 2  9 – 5m 
 (A) 1   (B) 0 
 (C) –1   (D) 2 

Q.4

 :    
 (i)  y3 + 2  (ii) 9x2y 
 (iii) 2 – a2 – 2b2   (iv) 6a2b2 – 8ab –5ab 

Q.5

(i) – 6y2x x   (ii) –3a a 

(iii)
5
1 ba b   (iv) – 5xy2 x 

Q.6 9 + x –2x2, 6 – x + 2x2 + 3x3, 4x3 – x – 8  

Q.7 –x2y + xy2 2xy + 4x2y 

–4xy2 –2xy –5x2y 

Q.8 4x –3x3 + 8x2 + 6 

Q.9 A = 2x2 –5x –7, B = x2 + 4x – 3,  

C = – 4x2 – 4x + 3  A – B – C 

Q.10  :  
(i)  a – (a – b) – b – (2b – a)  

 (ii) 2x –3y –2xy – (2x –3y + xy) + 6xy + y – x  

Q.11 

x 3 
(i)  3(3x – 1) + 4x + 9  

 (ii) 6x + 4 + 3 (4x – 8)  

Q.12  :   
(i)  x2y, 6x2y, –8x2y  

 (ii) ab2, –2ab2, 8ab2, 14ab2

Q.13  :    
(i)  5x –6y, 8x + 7y, –4x + 3y 

 (ii) 6x3 + 8 + 7x – 8x2, 3x2 – 9 – 8x, 3x – x2 + 2x3

Q.14  :    

(i) y3 –4xy2 –5x2y x3 + 3x2y + 6xy2 –2y3

(ii) 6 – 5x + 7x2 – 9x3 7x3 –9x2 + 5x – 3 

Q.15 2a2 + ab + b2 3a2 + 4ab 

Q.16 4a + 16b + 20 

–11a + 2b – 26 ?    

Q.17 a – 3b + 12  – a + 15 

4a + b – 30 

Q.18 6 + 4y + y2  8 – 5y + 3y2 

6y2 – 4y –y2 + 4y + 9 



Power by: VISIONet Info Solution Pvt. Ltd 
Website : www.edubull.com Mob no. : +91-9350679141

Edubull

ANSWER KEY
1.  (B)   2. (A)  3.  (C) 

4.  (i)   (ii)  (iii)  (iv) 

5.  (i) –6y2 (ii) –3  (iii) a
5
1   (iv) –5y2

6.  7 – x + 7x3  7.  8x2y + 4xy + 5xy2 8. –4x + 3x3 – 8x2 – 6 9.  5x2 – 5x – 7 

10. (i) –2b + a  (ii) –x + 3xy + y   11. (i) (13x + 6), 45  (ii) (18x – 20), 34
12. (i) –x2y  (ii) 21ab2    13. (i) 9x + 4y  (ii) 8x3 – 6x2 + 2x – 1 

14. (i) 3y3 – 10xy2 – 8x2y – x3   (ii) 9 – 10x + 16x2 – 16x3

15. a2 + 3ab – b2  16. 15a + 14b + 46 17. –4a – 4b + 57 18. –y2 – y + 5 
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EXERCISE # 2 
Q.1

:    
 (i) x y 

(ii) x y 

 (iii) a  b 

(iv) y x 

(v)  a b 25 

Q.2

 :     
 (i) 2x + 7  (ii) 5a2b + 3ab2

 (iii) 0   (iv) –6x + by –9z2

Q.3

 :   
 (i) 5x2   (ii) x3 – 1 
 (iii) x2 – y2  (iv) 4x2 – 3y + 3 
 (v) 3x2 + 2x + 5  (vi) – xyz 
 (vii) a3 + b3 –3ab  (viii) 3x – z 

Q.4  :    

 (i) (–2x) x   (ii) 5abc  5 

 (iii) 
8
7 x2y2z3 y2  (iv) x3 – 2x + 3 x2

 (v) –3xy2z x  (vi) –3pq3r4  p 

Q.5  :   
 (i) xy   (ii) – 6yz 
 (iii) 7abc  (iv) –2x3y2z  

Q.6

 :    

–2x2y2 – 
5
1 xy4 + z 

Q.7  :   
 (i) x3

, y2, 2x3, z2

(ii) 3xy, yz, 4x,
2
yz

 (iii) –2x2y, x2z, – yx2, x2y2

(iv) cab2, a2bc, b2ac2, c2ab, a2b2c, abc, acb2

Q.8  :   

(i) x2 – x 

x – 4 

(ii) 





 






  2y

3
2y

7
25y

4
2y

3
1 22







  2y23y

7
1

Q.9  :   

 (i) a
4
1a

3
1a

2
1



(ii) (a + b – c) + (b + c – a) + (c + a – b) 
 (iii) 2b – a – b – 2c – b + a – (a – b – c)  

Q.10

 :    

 (i) 
2x6x5x2

10x4x7x3
23

23





(ii) 
8a7a3

8a7a5
2

2





Q.11  :   
 (i) –5x2 – y2, 4x2 + y2

(ii) 5x2 + 3x, 5x2 – 3x  

Q.12 x +2y –3z, –x – y– 5z 
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Q.13 (8a – 6a2 + 9) (–10a – 8 + 8a2) 

–3 

Q.14 x – 4y + 3z 3x – 6y – z 

Q.15 6x – 4y + 3z 3x – 2y + 7z 

Q.16 – 4a2b – 3ab2 + b2

a3 + 2a2b + 6ab2 – b2

Q.17 7x – 10 

x – 6 3x + 2 

Q.18 x2 – y2 – 2xy + y – 7 

2x2 + 3y2 – 7y + 1 

Q.19 3x – y + z  – y – z 

3x – y –z x 

Q.20 5x3 – 2x2 + 6x + 7 

x3 + 3x2 – x + 1 

(Q.21  Q.29) : 

Q.21 a –
3
1  [(a2 – 5b) – 2 {2a2 – (3c – 2b)}] 

Q.22 xy – [yz – zx – {yx – (zy – xz) – (xy – zy)}]  

Q.23 4x3 – [9x2 – {–5x3 – (2 – 7x2) + 6x}]  

Q.24 – a – [a + {a + b – 2a – (a – b)} – b]  

Q.25 x – [{zy – (5x + y – z) + 2x2} – (x2 – 3y)]  

Q.26 20x – [15x3 +5x2 – {8x2 – (4 – 2x – x3) – 5x3} –2x]  

Q.27 2a – 3b – [3a – 2b – {a – c – (a – 2b)}]  

Q.28 – 4x2 + {(2x2 – 3) – (4 – 3x2)}   

Q.29 2a – [4b – {4a – (3b – )b2a2  }]   

Q.30 4x + x – 2x2 + x – 1 

x = – 1 ?   
Q.31  :    

 (i) (x + y) 2  – (x – y)2,  x = 
2
1 , y = 

4
1

(ii) (x – y)2 + 4xy,  x = 
3
1 , y = 2  

 (iii) (x + y)2 – (x2 + y2 + 2xy),  x = 1, y = –1 

(iv) (x2 – y2) – (x + y) (x – y),  x = –1.7, y = –3.9 
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ANSWER KEY 

1. (i) 2x + y  (ii) 3x – y (iii) ab
3
1  (iv) y2 – x2 (v) (a + b) – 25 

2. (i)   (ii)  (iii)  (iv) 

3. (i)  (ii)  (iii)  (iv) (v) 

(vi)   (vii)   (viii) 

4. (i) –2  (ii) abc      (iii) 32zx
8
7      (iv) x (v) –3y2z (vi) –3q3r4

5. (i) 1  (ii) –6      (iii) 7     (iv) –2  

6.  x2y2 = –2, xy4  = ,
5
1

  z  = 1 

7.  (i) x3  2x3   (ii) yz 
2
yz   (iii) –2x2y  –yx2   (iv) cab2  acb2

8.  (i) 2x2 – 8 (ii) 6y
14
13y2 

9.  (i) a
12
5 (ii) (a + b + c)    (iii) – a + b – c 

10. (i) x3 – 12x2 + 10x – 12   (ii) –8a2  11.  (i) 9x2 + 2y2 (ii) –6x 

12.  2x + 3y + 2z     13.  2a – 2a2 – 4 

14. –2x + 2y + 4z    15. –3x + 2y + 4z 

16. a3 + 6a2b + 9ab2 – 2b2   17. 3x – 6 

18. –x2 – 4y2 – 2xy + 8y – 8   19. z – y, x  = 0 

20. –4x3 + 5x2 – 7x – 6     21. a2 + a + 3b – 2c 

22. xy – yz + 2xz    23. –x3 – 2x2 + 6x – 2 

24. –b      25. –x2 – 6x – zy – 2y – z 

26. –19x3 + 3x2 + 24x – 4   27. b – c – a 

28. x2 – 7      29. 8a – 5b 

30. –9      31.  (i) 
2
1  (ii) 

9
49  (iii) 0 (iv)  0 




